NT3046 1637304

2019(0dd)

Time : 3Hrs. Sem. I1I/Arch.Asstt.
Comp. App. in Arch.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |
Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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11.

Wigy § gRu g &) @R o @& sl &l
H qdlag -
(i) AFHR
(i) e
(iii) g
OR (3721d)

Define briefly & also list down the functions of the
following :

(1) Units

(i1) Hatch

(iii) Gradient

gy ¥ gR9Ifya #) @R o @ sl &l
A gAdg -

(i) Iehrew

(i) 84

(i) FSHIT

Define briefly & also list down the functions of the
following :

(1) Insert Block

(i1) Stretch

(1i1) Extend

NT3046

(i)

(iii)

(iii)

(iv)
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"SIST sdIsAl" fdsl wiad & fay
ATII B—

@u

(@) UN

(") UNI

(%) UNIT

Whenever you save a drawing a new backup
file is created which contains file without
changed, what is the extension of that backup
file?

(a) DWG

(b) SVG

(c) BAK

(d) BCK

519 ) MY TP ST bl goid 2 dl
TP ¢ IHIIY BIged 9918 oIl @
forad uRRa<d= foy fa=m wiga =i 2,
99 9B3IY BIgdl &l fIedR Far 27?
(31) DWG

@) SVG

(@) BAK

() BCK

To fit all drawing objects in the visible
drawing area you need to select

(a) Zoom window

(b) Zoom Dynamic

(c) Zoom Extents

(d) Zoom object
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GROUPC
Answer all Five Questions.
6x5=30
o+l dfg 9ol @ SR
7. Elaborate briefly about 2-D Cad. "
6

-8 e B IR A faga IFeRY |

OR (3121an)

Differentiate betweent 2-D autocad & 3-D Autocad.

2—3) Jfcids 3R 3—II 3fclds ¥ IR
BN |

8. Explain briefly :
(1) Donuts
(i1) Entity Selection
(ii1) Graphics

G — 6
(i) Si-icH

(i) S T

(iii) TTHYRT
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(vi)

(vii)

(vii)

(viii)
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gof fdenie &1 SuAlT axka e ufaa
Bl foda e @ ATIIHIAT 28—

(31) ®Is &

(@) >

(|) <

(|) aR

When selecting objects, pressing 'L' will :

(a) Select lines only

(b) Select objects when you move your mouse
to the left

(c) Select the last object created

(d) Select the last object you modified.

99 X3 BT 999 d3A & fag L

91 dl—

(31) dad TSl BT FIS BT

(d) <19 A1SY 918 3MR o oA df
Jfssidcd g+

(@) sifaw a¥g & s ™

(2) 3= o Genfea fear @ s« sifaw
Jfssiae &l

Pressing 'F' when selecting objects will :
(a) Allow you to draw a fence

(b) Finish the selection set

(c) Limit you to five objects

(d) Allow you to find specific text
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4.

Define briefly about :
(1) Pan
(i1) Regen auto

way § gRyIfia -
OLE
(i) AT 3Afer

OR (3121an)

Define briefly about :
(1) Redraw
(i1) Regen all

8y § gREfa -
(i) Jrgt
R EEIG

Explain:
(1) Blocks
(i) W - block

qHSATY—
(i) scifed
(i) Sec]—eclla™

NT3046 NT3046
(x)
4
(xi)
(xi)
(xii)
4
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I PHIS BT SUINIT HXd GHI ATID]
Jfssiacd BT IId DU BT AMfaY—
(31) fa=si @& e

(@) '& ¢S Pl SoId

(A) Rrye &1 qaDR

() 'S' qdIDY

The origin of drawing is at:
(a) The first point you select
(b) 0,0

(¢) A random point in space
(d) 10,10

SIS &I IURT R 2—
(31) usan fdg <l amu g+
(@) o.0

(|) ®I$ 0 fag

() 10,10

The distances of a chamfer are
(a) Always different

(b) Always the same

(c) Sometimes different

(d) Never the same
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(xx) I YdT H bl G99 AT dSibl T
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2 f& 3y IR Wy /dsse die § @

(31) 5= 3rse

@) feasl U8

G RECINIRCIEETE]
() fufewr ova <@

GROUPB

Answer all Five Questions.

il gfa g & SR o

2.

Explain:-
(1) Entering coordinates
(i1) Drawing editor

ATEAT B —
() e
(i) TS HUTGD

4x5=20
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(xiv)

(xv)

(xv)

(xvi)
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TF SIET ¥ fra e @ aie?
(31) s
(9) <4

() & difside @ fow &
(]) dlfside &I W wU A YsRid &
fog smawas @

What can be contained in a template drawing?
(a) Layers

(b) Text styles

(c) Dimension styles

(d) All of the above

U®h SHelc SIS # ar e fear <
AHdl 8—

(31) aad

@) Cde I

(W) SIEATA e

(]) SR & 9+

Which is not a valid zoom option?
(a) Zoom extents

(b) Zoom previous

(c) Zoom next

(d) Zoom window
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